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44,000

49,500 ¥

57,200 ¥
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- 2483 W EXtAMHA 0|85t 5= AL KTHE = UASLICH
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(1) LHATHZ 25X
-otg 2=H2l 2

BMSOrE Mz T2OM 0] 9f 7|7t XBHgls

- ooz L D HATT [ s s |
otz 23N e Z2nMo| MHE AE [HE7.SAAME T2 M E
J|125(8) 2 N3
AtZ Y = Hl
‘i1 OME | O| E- 2X
Sor Satol HArEol =8 &3} (o= N
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LH2HCH 2 K (60 £+300MB) 12,100 & 6,600 ¥ 60 £ 300MB
LI CHE K (60 & +500MB) 13,200 ¥ 7,700 60 £ 500MB
o= LW CHE K (60 £+1GB) 15,400 & 9,900 & 60 £ 1GB
LH2CHE K (60 2+2GB) 20,900 ¥ 15,400 ¥ 60 &2 2GB
LZCHE K (100 £+10GB) 24,200 ¥ 24,200 ¥ 100 2 10GB 100 A
@ =22
1. HIO|E F7} 378 O|HIE
- AN&7|ZE: 2020 3”11 Y ~ 2020 7 & 15 Y THURE B
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2. HIO|H &7t Y O[HIE
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O|OF7| K Ci|O|E{ 14GB 24200 9 | 24,200 & il 14GB 7|28
‘ A e . R ' -
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0|OF7| K Ci|O|E 10GB 42900 ¥ | 38500 & 7|23 7| 2ME N
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1P 1Ol °© ° |0} 1Mbps 23t
23 5
O|OF7| K QHA! TI|O|E{ 100G+ | 63500 & | 47,000 & 71283 100GB 7128= .
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0|0t7| K 5G =3 Zp{A 61,600 & | 61,600 R 30GB 7| 28S o
HILE3S} 300 2 ZICH 1Mbps FAIsH
ojo| obal y y 712M3 o A=
71K 5G QA 6GB+ 36300 ¥ | 36300 ¥ N 6GB 72X S .
- 253150 2 ° % 400Kbps FAISH
ojo| ohal o o 7| 2M3 5 o=z
7| K 5G Ot 8GB+ 39,600 ¥ | 39600 & N 8GB 7128S .
£IH8%H50 & - Z|CH 400Kbps FH|SH
@ EZ2EM
1. HIolH =7t 57 O[HIE (BE)
- AE7|Zt 4 32 ol 13 72 Ol JLOIxL SLE

- O[OF7| K H|O|E{ 10GB 7t 7242 12 74&7t 7|2 GO 100GB F7F ME =™, 12 7H& O|= 10GB 2 HFELICh
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® AlLof 23HE 7tent SA0| XAHEL2 F= HO|ALMAIE EIEAMH|AN 7+ E LICE
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@ 23H g2 7|2 M2 =205t AL Al 23820 2t STTA0|M utFEL|Ct o|2 Qlsf ZXTH0| AXEAL 7|2 NSE0| HorlHets
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Atgg = UELCH
® AHE7|7E TR0 2 Z0|2S AT o327 o AHE 7|7t Bt 3 LR/ LT, AFE7| 7t BtE AT, ZHd AZIAIE, ZIAMSHX| 3 Y1 il Z2f 22X}
2 2%
® H3HZ 4 7ts 7|72 BTZ 45 oM O|FHA| X|Of Mtz {X|7|7H2 75 L2 TL|Ct 0| &AHSHX|E 4= USLICE
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